
§·¤æ§ ü / Unit-I

1. çÙ`ÙçÜç¹Ì çßÌÚU‡æ âð Õæ©UÜð ·¤æ çßá×Ìæ »é‡ææ¢·¤
™ææÌ ·¤èçÁ° Ñ

Ü`Õæ§ü
(âð×è) 75 76 77 78 79 80 81 82 83
ÜÇ¸U·¤æð´

·¤è â¢BØæ 6 8 13 18 20 16 10 7 2

FD-216
M.A. 1st Semester

Examination, Dec.-Jan., 2021-22

ECONOMICS

Paper - III

Statistical and Quantitative Methods

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙô´ ·ð¤ ¥¢·¤
â×æÙ ãñ´UÐ

Note : Answer all questions. All questions carry equal
marks.
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Find the Bowley’s coefficient of skewness
from the following distribution :

Height
(in cm) 75 76 77 78 79 80 81 82 83
No. of
Boys 6 8 13 18 20 16 10 7 2

¥Íßæ / OR

X ÌÍæ Y Ÿæð‡æè ×ð´ ·¤æÜü çÂØUâüÙ ·¤æ âãUâ¢Õ¢Ï
»é‡ææ¢·¤ ™ææÌ ·¤èçÁ° Ñ

X Ÿæð‡æè 17 18 19 19 20 20 21 21 22 23

Y Ÿæð‡æè 12 16 14 11 15 19 22 16 15 20

Find Karl Pearson’s coefficient of correlation
between X and Y series :

X series 17 18 19 19 20 20 21 21 22 23

Y series 12 16 14 11 15 19 22 16 15 20

§·¤æ§ ü / Unit-II

2. çÙ`ÙçÜç¹Ì â×¢·¤æð´ âð y ·¤æ ¥Ùé×æçÙÌ ×êËØ
çÙ·¤æçÜ° ØçÎ x = 70 ãUæð, ¥æñÚU ·¤æ x ¥Ùé×æçÙÌ
×êËØ çÙ·¤æçÜ° ØçÎ y = 90 ãUæðÐ

x y

¥æñâÌ ×êËØ 18 100
Âý×æÂ çß¿ÜÙ 14 20

x ¥æñÚU y ×ð´ âãUâ¢Õ¢Ï »é‡ææ¢·¤ = +.08
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Find out the most probable value of y if
x = 70 and most probable value of x if y = 90
from the data given below :

x y

Mean 18 100

Standard Deviation 14 20

Coefficient of correlation between x and
y = +.08

¥Íßæ / OR

çÙ`Ù ×ð´ ¥™ææÌ ¥æ¡·¤Ç¸Uæ ÂýˆØÿæ çmÂÎ çßSÌæÚU ÚUèçÌ
âð ¥æ¢ÌÚU»ç‡æÌ ·¤èçÁ° Ñ

x 20 25 30 35 40 45

y 60 66 ? 72 75 80
Interpolate the missing figure in the following
by direct binomial expansion method :

x 20 25 30 35 40 45

y 60 66 ? 72 75 80

§·¤æ§ü / Unit-III

3. çÙ`Ù ¥æ¡·¤Ç¸Uæð´ âð çÂÌæ °ß¢ Âé˜æ ·¤è ¥æ¡¹æð´ ·ð¤ Ú¢U»
·ð¤ »ãUÚðUÂÙ ×ð´ »é‡æâ¢Õ¢Ï ·¤è Áæ¡¿ ØêÜ ·¤è çßçÏ
âð ·¤èçÁ° Ñ



( 4 )
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â¢Øæð» ¥æßëçîæ

·¤æÜè ¥æ¡¹æð´ ßæÜð çÂÌæ ¥æñÚU
·¤æÜè ¥æ¡¹æð´ ßæÜð Âé˜æ z®

·¤æÜè ¥æ¡¹æð´ ßæÜð çÂÌæ ¥æñÚU
ãUË·ð¤ Ú¢U» ·¤è ¥æ¡¹æð´ ßæÜð Âé˜æ |~

ãUË·ð¤ Ú¢U» ·¤è ¥æ¡¹æð´ ßæÜð
çÂÌæ ¥æñÚU ·¤æÜè ¥æ¡¹æð´ ßæÜð Âé˜æ }~

ãUË·ð¤ Ú¢U» ·¤è ¥æ¡¹æð´ ßæÜð çÂÌæ ¥æñÚU
ãUË·ð¤ Ú¢U» ·¤è ¥æ¡¹æð´ ßæÜð Âé˜æ |}w

Investigate the association between darkness
of eye-colour in father and son from the
following data by Yule’s method :

Combination Frequency

Fathers with dark eyes and
sons with dark eyes 50

Fathers with dark eyes and
sons with not dark eyes 79

Fathers with not dark eyes and
sons with dark eyes 89

Fathers with not dark eyes and
sons with not dark eyes 782

¥Íßæ / OR



ÂýæçØ·¤Ìæ ·¤è ÂçÚUÖæáæ ÎèçÁ° ¥æñÚU âæ¢çBØ·¤è ×ð´
§â ¥ßÏæÚU‡ææ ·ð¤ ×ãUˆß ·¤è ÃØæBØæ ·¤èçÁ°Ð

Define probability and explain the importance
of this concept in Statistics.

§·¤æ§ ü / Unit-IV

4. çÈ¤àæÚU ·ð¤ âê¿·¤æ¢·¤ ·¤è »‡æÙæ ·¤èçÁ° Ñ

ßáü

ßSÌé 2000 2020

·¤è×Ì ×æ˜ææ ·¤è×Ì ×æ˜ææ
A 10 3 20 4
B 3 4 15 3

Calculate the Fisher’s Index Number :

Year
Commodity 2000 2020

Price Qty Price Qty
A 10 3 20 4
B 3 4 15 3

¥Íßæ / OR

âê¿·¤æ¢·¤ ·¤è ÂçÚUÖæáæ ÎèçÁ° ÌÍæ §â·ð¤ ©UÂØæð»æð´
·¤æ çßSÌæÚU âð ß‡æüÙU ·¤èçÁ°Ð

Define an index number and describe in detail
its uses.

( 5 )

DRG_154_(7) (Turn Over)



§·¤æ§ ü / Unit-V

5. çÙ`ÙçÜç¹Ì ¥æ¡·¤Ç¸Uæð´ âð ¥hü×ŠØ·¤ ÚUèçÌ mæÚUæ Îèƒæü-
·¤æçÜ·¤ ©UÂÙçÌ ·¤æð ™ææÌ ·¤èçÁ° Ñ

ßáü çÕ·ý¤è (Üæ¹ G ×ð´)

2000 18

2001 25

2002 21

2003 15

2004 26

2005 31

2006 30

2007 20

2008 35

2009 32

2010 23

From the following data determine the long-
term trend by semi-average method :

Year Sales (in lakh G)

2000 18

2001 25

2002 21

2003 15

( 6 )
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Year Sales (in lakh G)

2004 26

2005 31

2006 30

2007 20

2008 35

2009 32

2010 23

¥Íßæ / OR

·¤æÜ-Ÿæð‡æè çßàÜðá‡æ âð ¥æÂ @Øæ â×ÛæÌð ãñ´U?
§â·ð¤ ÂýØé@Ì â¢ƒæÅU·¤ ·¤æñÙ-·¤æñÙ âð ãñ´U? â×Ûææ§°Ð

What do you understand by Time Series
Analysis ? What are its main components ?
Explain.
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